HOoBEEAMR
R-EE_F=A=+—H
“RREB AR T —F
B 5 Tt FET
(EH)
i By ¥
"B Y% 17 6,000 7,680
W% BENEZE 18 1,914 23,564
Bt 2 N T M 2 20 - 1,763
BHEE 21 58,000 —
e U 2 i 22 - 2,000
65,914 35,007
B ¥ =
FIERFEEY % 23 30,000 49,600
FE 24 - 57,084
g5 M E A fE W RIE 25 5,336 36,005
RHEX 26 173,543 4,014
WRIKE 2% 27 134,244 160,258
BHERE 21 — 13,466
JE U = 1% 22 55,000 53,000
A Y =] 7 18 — 149
RITEREIR S 42,404 37,306
440,527 410,882
oA
g5 Rk HAME KA 29 2,242 43,580
P18 \ 83 —
RITREMEE 30 - 36,765
WA EE - —F RN 31 - 31
2,325 80,376
MEEEFE 438,202 330,506
BWEERLEARE 504,116 365,513
e B 11K
i LT TR 33 - 102
A RE - —F 122 H 31 - 146
- 248
A B o BE 2% — 31,465
504,116 333,800 ?
VoA R B =
LN 34 31,161 86,559 =
feé 1 37 472,955 247,241 ®
504,116 333,800 g
E
19i7sﬁﬁﬁﬁzﬁﬁﬂiﬁiaﬁ_ T _F+H A+ \BEESetE THTIIEEKRKRES 20—
EI EA % #
=
¥ E +F
| F: 373 |78 341




